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10.

Class X Trigonometry Test paper

Iftane=i, than M
b asinf+bcosb
a® -b® a’ —b’ a® +b’
A B) v O (D)a+]
(sec® 6 - 1) (1 - cosec’s) =:
1
(A)-1 (B) 1 (€0 (D) 5
IfsinA = %, then the value of cot A is
3 3
(A) V3 (B) 7 (C) % (D)1
If tan® = cot, then the value sech is
2
(A) 2 (B) O () N (D) 2
Ifacose + bsing =4 and asing- b cosg =3, then a°* b® is.
(A) 7 (B) 12 (C) 25 (D) 8
Prove the following identities:
1l-cos6H

(i) (cosech —cotp)* = — ——
1l+cosH

Prove the following identities:
cotA+cosecA -1 1+ cosA

cot A —cosecA +1 - sin A

sinﬂ—cose+1_ 1
sin@+cosB-1 secH-—tano

tang cot o

+ =1 +secH cosecH =1 + tan6 +cotb
l+cote 1-tano

cosO—-sino+1
cosf +sing -1

= cosecH + coto




